Circular Motion: Exercise

Particle P moves in a 06m |

I‘ v=12m/s
: |
circular path shown. \ _____ 0— —x

Determine the magnitude —
of acceleration for:

(@) constant velocity 1.2 m/s :
(b) velocity 1.2 m/s and increasing v, =r@
2.4 m/s each second .
(c) velocity 1.2 m/s and decreasing a =-r@-
4.8 m/s each second

See Notes Page view for solution.

av,=rd =20 éz%:Zrad/s a,=rd=(0.6)(0)=0
r

a, =-rf*=—(0.6)(2%) =-2.4m/s* a=./a’ +a’ = 2.4 m/s>

Ma,=24m/s" a=.a’+al =+(-2.4) +2.4° =3.39 m/s’

9 a,=-48m/s> a=+al+a’=(-2.4)+(-4.8) =537 m/s?
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